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Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.
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Section—-A 8x2=16
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 2 marks.
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1. 1) Which type of intermediate ions are generated
by Homolytic and Heterolytic Cleavage ?
T qen fovmrer foewes # fha yhR & At
AP I T 2
(i1)) Define the Saytzeff Rule.
Yoo g = § 2
(iii) Draw the structure of singlet and triplet
carbene.
T o 5 e w GEA SRy |
(ivy Why 12C does mnot exhibit NMR
Spectroscopy ?
12C @.0H.31R. SR&hdl #4 6l quia ?
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(v) What is the intermediate of Hofmann

Rearrangement ?

YR AfT=E | R qeed] S ¥ 2

(vi) Draw the molecular orbital diagram of
pyridine.
faEm &1 19 wesw o AR

(vii) Write Chichibabin Reaction.

Tatgentam tfufewar fafam |

(viii) How many NMR signals are given by the
following molecule ?
=1 o] & fea NMR daha faem ?
CH;—C—CH,—CHj;
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O

Section-B 4x8=32
(Short Answer Type Questions)

Note -— Answer any four questions. Each answer should not
exceed 200 words. Each question carries 8 marks.
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2. Explain Sy; Mechanism.
Sy i ferarafy wwzmET

3. Explain the structure and aromaticity in pyrrole
and explain why electrophilic substitution in

pyrrole takes place at position C-2.

A I GEAT 991 TAfeshdr gHeEe | sid |
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4. Explain the aromatic behaviour of Anthracene and

draw its resonance structure.
TYIEH 1 THCH HFI8R THERT T SHehi STIART
TTEAT IR |
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5. Explain Norrish type-1 reaction. Section—C 2x16=32

AT 219-1 Af4fshan =1 THEmET | (Long Answer Type Questions)

6. Explain the stability of carbocations and Note .— Answer any two questions. You have to delimit
carboanions. your each answer maximum up to 500 words.
FHIETheET 9T HETTAET 1 T GHAET | Each question carries 16 marks.

7. Explain the following reactions : Qus—¥H
e sifufspanstt & wwemwT (& s ue)

(i) Claisen rearrangement frder o~ forl & wAl & ST T & 9 W H Afeehan
Fo AR 500 vl T wREifad HifSe | Y&E T 16 37 H T

(i) Hoffmann rearrangement 10. What is Stereochemistry ? Explain enantiomers and
WE R diastereomers with suitable examples.

Tofom WA = § ? wfafasey o faafs aqeee

8. Explain Paterno-Buchi reaction.

oA sifufrn fafen SR Wfed TR |

. . . L ~ 1 2 ~ ' ~
9. Explain the various electronic transition in UV 11. Describe Sx* and Sn* Mechanism with suitable

spectroscopy. examples.

UV SRifafa # fafe=r soeeife v |9 e | Sn! @en Sn2 ferenfafy Sfaa seeeo dfed TwemsUl
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12. Explain the following :
=1 =1 "=
(i) Chromophore
HIHAMGR
(i1)) Auxochrome
St
(iii) Bathochromic Shift
ERIEDIEE N
(iv) Hypsochromic Shift
et firee
13. Explain the following :
=1 = "=
(i) Heisenberg Synthesis
ferarTert FeereT
(i1)) Knorr-Pyrrole Synthesis
AR HIAT
(ii1) Paul-Knorr Synthesis
re-A1T FYAT
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